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Explain the followings:
(i) Monetary Aggregates
(i) GDP Deflator

(iii)The Desired Capital Stock and the User Cost of
Capital (15)
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(a) What is Macroeconomics ? Explain the different

Macroeconomic issues in detail.

(b) What are the important consequences of the
differences in the classical and Keynesian views?
(10, 5)
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(a) Define private saving- How private saving used in

the economy 7
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What are the determinants of demand for money ?
Explain how the demand for and supply of central
bank money determines the equilibrium interest rates
in an economy with currency and checkable deposits?

Explain using formal analysis and diagrams. (15)
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(a) What is the difference between intermediate and
final goods and services ? Why is the distinction
between intermediate and final goods important
for measuring GDP ?

(b) How is the rate of interest determined by the
demand and supply of money ? What happens to
the interest rate if:

(i) Nominal income increases.

(i) Money supply increases. (5,10)

o 1



1412A 6

Ffofaa @t g aftfa:

| ud C=50 + .8YD
ECE =70

WE =g G= 200
TTHFEROT TR= 100

T W R t= -20

(i) =& 9fEa % A D T T AN UIF S AT R
(i) @wic FEEw =« E W, qweF

(iii) = MW & t Tgww 25 B WA 21 E AgEe I
B A I ?

(iv) @sie e ¥ aRads & om0 w9 ke
wma &F aftnw ¥ oRedw s o = e gl
c=.9 9 87

1412A 3

(b) Discuss the Expenditure and Income approach to
measuring Gross Domestic Product (GDP).
(5,10)
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Suppose the consumption function is given by
C =100 + .8Y, with no government while investment
is given by 1 = 50.

(1) What is the equilibrium level of income in this
case ?

(i) What is the level of saving in equilibrium ?

(iii) If, for some reason, output is at the level of 800,
what will the level of involuntary inventory

accumulation be ?

(iv)If investment (I) rise to 100, what will the effect
be on the equilibrium income?

(v) Draw a diagram indicating the equilibria.in both
(a) and (d). (15)
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(a) How are desired saving and desired consumption

affected by increases in current income] expected

future income, wealth and changes in real interest

rate ¥
(b) Explain the concept of Money Multiplier. (10, 5)
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Described by the following functions:

Consumption C=50 -+ .8YD
Investment =70
Government Expenditure G= 200
Transfers TR= 100

tax rate t= .20

(i) Calculate the equilibrium level of income and the
multiplier in this model.

(ii) Calculate also the budget surplus, BS.

(iii) Suppose that t increases to .25. What is the new
equilibrium income? The new multiplier ?

(iv)Calculate the change in the budget surplus. Would
you expect the change in the surplus to be more
or less if ¢ =.9 rather than .8 ? (15)

e.1.0.



